AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

(check applicable FEDER	e box) AL CANDIDA	TE	STATE	/LOCAL CA	NDIDATE
	il Themselve v, Federal Ca				
Station and		(OSV - 171	Uiance (C	Date:	10-1 0 -70
	ya Store				
being/on behalf	of:	ISEIF	· · · · · · · · · · · · · · · · · · ·		, a legally
qualified candid	ate of the	7			political
party for the offi	ice of: Ste	He Legis	ature		
	neral E	9			
	eld on: Nov	_	<i>z-</i> 2		
	est station time as t		n Cj.	4	
Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks
`.60	6A-9P	10/10-	KAAQ	Varies	5
		11/3	KCOW		
			KOSK		

	tal												

For programming that, in whole or in part, "communicates a message relating to any political matter of national importance," list the matters below:
•
I represent that the payment for the above described broadcast time has been furnished by:
and you are authorized to announce the time as paid for by such person or entity. I represent that this person or entity is either a legally qualified candidate or an authorized committee/organization of the legally qualified candidate.
The name of the treasurer of the candidate's authorized committee is:
This station has disclosed to me its political advertising policies, including: applicable classes and rates; and discount, promotional and other sales practices (not applicable to federal candidates).
THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY IN THE PLACEMENT OF ADVERTISING.
To Be Signed By Candidate or Authorized Committee
10/10/20 Allya Mignature Signature
To Be Signed By Station Representative
Accepted
Signature Olivia Hasenauer Nebraska Regional Printed Name Title Managas
Title Vancas (

Date: 10/15/20

Sales Order

Stations:	KAAQ-FM, KCO	W-AM, KQSK-	FM	Buyer:			
Contract Name:	1007obtsfnl-01			Tax Schedule:			(None)
Contract#:			311510040	Agency Commi	ssion %: 0		
Start Date:	10/09/20	End Date:	11/03/20	Billing Cycle:	Calendar		
Revenue Type:	Political Direct		Type: Cash	Salesperson:	5156HOUSE	Comm %:	0
Advertiser:	T. STORER FOR	R LEGISLATUI	RE	Makegood Poli	cy: Within Contract Dates	L	
Address:	19075 Adamson	Drive					
City:	Whitman	State: NE Zip:	69366				
Product Name:	Political Advertis	ing					
Competitive Cod	e: Political Candida	ate					

KAAQ-FM

N.	DATES		Alt	TIMES		LEN	DISTRIBUTION									RATE	TOTALS		PTY
No	START	END	wks	START	END	LEN	М	Т	W	Т	F	SA	SU	Per Wk	D/W	KAIL	SPOTS	\$\$	FII
1	10/09/20	10/10/20		6:00 AM	9:00 PM	60					7	7		14	D	10.00	14	140.00	3
2	10/12/20	10/16/20		6:00 AM	9:00 PM	60	7		7		7			21	D	10.00	21	210.00	3
3	10/19/20	10/24/20		6:00 AM	9:00 PM	60	5			5		5		15	D	10.00	15	150.00	3
4	10/26/20	10/30/20		6:00 AM	9:00 PM	60	5		5		5			15	D	10.00	15	150.00	3
5	11/01/20	11/01/20		6:00 AM	9:00 PM	60							5	5	D	10.00	5	50.00	3
6	11/03/20	11/03/20		6:00 AM	5:00 PM	60		5						5	D	10.00	5	50.00	3

TOTAL GROSS \$750.00, NET \$750.00

KCOW-AM

No	DATES		Alt	TIM	1ES	LEN	DISTRIBUTION									RATE	TOTALS		PTY	
No	START	END	wks	START	END	LEIN	М	Ţ	W	T	F	SA	SU	Per Wk	D/W	NATE	SPOTS	\$\$	FTE	
1	10/09/20	10/10/20		6:00 AM	9:00 PM	60					7	7		14	D	12.00	14	168.00	3	
2	10/12/20	10/16/20		6:00 AM	9:00 PM	60	7		7		7			21	D	12.00	21	252.00	3	
3	10/19/20	10/24/20		6:00 AM	9:00 PM	60	5			5		5		15	D	12.00	15	180.00	3	
4	10/26/20	10/30/20		6:00 AM	9:00 PM	60	5		5		5			15	D	12.00	15	180.00	3	
5	11/01/20	11/01/20		6:00 AM	9:00 PM	60							5	5	D	12.00	5	60.00	3	
6	11/03/20	11/03/20		6:00 AM	5:00 PM	60		5						5	D	12.00	5	60.00	3	

TOTAL GROSS \$900.00, NET \$900.00

KQSK-FM

No	DAT	DATES AI		TIM	IES	LEN	DISTRIBUTION									RATE	TOTALS		PTY	
No	START	END	wks	START	END	LEIN	М	T	W	Т	F	SA	SU	Per Wk	D/W	NAIL	SPOTS	\$\$		
1	10/09/20	10/10/20		6:00 AM	9:00 PM	60					7	7		14	D	10.00	14	140.00	3	
2	10/12/20	10/16/20		6:00 AM	9:00 PM	60	7		7		7			21	D	10.00	21	210.00	3	
3	10/19/20	10/24/20		6:00 AM	9:00 PM	60	5			5		5		15	D	10.00	15	150.00	3	
4	10/26/20	10/30/20		6:00 AM	9:00 PM	60	5		5		5			15	D	10.00	15	150.00	3	
5	11/01/20	11/01/20		6:00 AM	9:00 PM	60							5	5	D	10.00	5	50.00	3	
6	11/03/20	11/03/20		6:00 AM	5:00 PM	60		5						5	D	10.00	5	50.00	3	

TOTAL GROSS \$750.00, NET \$750.00

Billing Proj	ections: By N	M onth					
		Oct 20	Nov 20				
	CA	2,080.00	320.00				
	ST	1,600.00	800.00				
Print Sp	oot Prices			TOTAL	SPOTS		225
		20.00000			TED SPOTS		225
				ADJUST	TED TOTAL	.\$	2,400.00
	*********	*****					
				 APPRO1	VE DECLI	NE	
				 \bigcirc	\bigcirc	5156obro, 10/07/20 @5:42PM	
				 \bigcirc	\bigcirc	Sales Manager	
		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		 \bigcirc	\bigcirc	National Sales Manager	
				\bigcirc	\bigcirc	Local Sales Manager	